S 7 F£ F 22 B( 4B ) RENBEZESLESSER
B & H SfM 7 & 4 B 18 B8( %)
B & & B REMKIG20 [E 5]
Bl & B %l F 1% 3K555% Bl & B % F&4K528%0
1B E B —@|2BkE#BHE R F|3% = 8 —
EEZTEMHE 48 % & | 6%F E B OB R|7F 6 K @ &
8E W NIl ¥ | oF E B * A
EEEERE) 6% E B B =
Z H B K H
HHEES(HF)
EBETELSEHR |BHBRE £ B H # EiR &6 K F #
EEHREAAN 18 K 8 — @& 2% K B R T
S = 4 ]
EEFE1ES BHEFESEF1IEORATEICKAHFAIREEIZDOILNT
= EE A E 2 A wr | Hb e 2 s
= (E& }:FE A) (*& EQ E A) %%ﬂ E iﬂ*ﬁ(m) ;’éﬁ?"]g” a E.f
1% RKEHM RKEHM 2 H 2145 | 58 B | W R
2% REH REH 1 2] 706 | X #r |\ R
3% KEH KEH 1 H 236 | X #2 |[® R
4% REH A 2 *H 344 | BB B | W\ R
EEF2E EBEHEFESEF1EOREICKDHFAIREIZDONNT
= EOE A E 2 A s | b <, 2 s
15 REH WEER 1 H 343 |mmamEsE| A R




BEFESS EBERAMMAERFREFEOREICOVWT(ZMPHEEER)

2 % 5l H %% - #h B  B(m) | A
_ H
B &R T
pi
24 22] 36,412
TS 13 Aok
2 1 2,864
2 23] 1,285
F D b 1 IS
0 M 0
) 26 22| 37,697
= 14 A iR
2 1 2,864

HEF1S RHMOERA(EXARSF BHEDRHICONT
th

2| m@z s | &= iﬁ Hh7E (nf) W E
1E A K=t 1 2] 195.0 HE AR
2% REH REF 1 H 65.8 HE A

MEF2E EHEFE18EFCIEDRTEICKDIBEHMIZDOLNT

52| # A #oA | =N i§ o7 (rrf) o
1% REHM REH 1 H 1,262 SEfER
28 REHM REH 1 A 1,364 EEER
KE:S . ¥ /N ] REH 1 H 1,500 SEEEL
e REHM A= 2 H 1,121 BEEY

HEHEIT  TOH

LEFHAABTICTOVTIE. ARBOBAXRIA, XKEHEBEFERHEA T TOD
BELBHRTIEW-FEITET,
[(BMWEhtEin: RKENBEZEREHKH 10243—24—8390]




